The Longest Chain

Output the longest chain of integers which has the following properties:

1. All integers are positive and have 4 digits in their decimal representation (i.e. all numbers
are in the range [1000, 9999]).

2. All numbers in the chain are different.

3. The decimal representations of each number differs from the next one at only position

(digit).
4. All integers are prime.

The winner is the participant who obtains the longest chain.
Input
There is no input data in this problem.

Output

In the first line output the length of your chain N. In the next N lines output each number of your
chain.

Score

The number of points you'll get for the given problem is calculated using following formula: score
= 1000/(1062 - length), where length - length of your chain.

Example

Output:
3

9857
9887
9883

Score:
In this case score = 1000/(1062-3) = 0.944287,

Problem author: Filimonenkov D.O.



	The Longest Chain
	Input
	Output
	Score
	Example


